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9-pn nwuwpwb
Enypnpn on (18 thtippyuiph, 2024p)

4. honpublwnnh jnipupwignip qugupnmu gpyuws L dtulud phwlwd phy: Uwupnb uinpw-

Gwpnh wdth Ynnh Ypw gptig wyn Gnnh dwypwltiptinh pytph gmdawpp: Mwpqybg,
np Ghoyp N Gonh Jpw gpujwd b 3-h puqiwguiphl: Gwpnh Gip wpynp winty, np
Juw punpwbiwpnh Ghuy, nph qugupdbpnd gpdwd pytph gniiwpp pudwimd £ 3-h:
Qhypupybp tpm ntwp w) N =6,p) N =T:
Ludnud: w) ABCDA; B;Cy D1 funpubiwpnh A b Cy ququppltipht gpttip 2, hul dhugud
ququpltpht 1: Wn nhwpnui AB, AD, AA,,C1B,,C1D,,C1C Unntiph ypw Ygpyh
3, hulj dhwgwd Ynntpht® 2: dwupnphl Ynntph pwbwlp, npnig Ypuw gpdud phdp
pudwiynmd t 3-h 6 t: onpwbwnpnh guijugwd thuph ququpitpht gnud k1, 1, 1,
2, npniig gnuiwipp 5 £ U sh pudwiynd 3-h:

p) fonpwiwpnh Ynnbpp pwdwitbp qnygph
(AB, OD), (BC, AD), (AlBl, ClDl), (BlCl, A1D1)7 (AAl, BBl), (CCl, DDl) :

Lupkbp, np guijugwd gnyygh snpu ququpltpng juquynmd t funpubwpnh tGhug:

Uypugytig 6 funudp: Lwbh np 7 Ynntiph ypw gnud pytiph gnudwpp pudwubymd k 3-p,
mpbil Yqupinh Ynnbph qnuyq, npniighg tipynuh ypw gpdwd pytiph gnudwpp pudwiynd
t 3-h: Wn Ynnbtpp dhwuht juqind Gl dhug:



5. %hgnip ppJwd £ LBCA = 30° wilyymbiny b AC' Gtpptwahgny ABC nnnublyyma
towblymbp: Yhgmp towiljud AD Yhunpnt nt AC-ht qupjuwd BE mnnuhwjwugp
hupynud b M Ytapnud, huly P-0 M C hunpdudh dhotwltph £: Wyyugniglip, np AC' =
ADP:

Lmdnud: “hgmp A’ Yhypp A Gagph hwdwsunho £ B Ytph djugpdudp: AA'CA-md CB
hwgwdp pwpapnieymb £ b dhehiwghd, wyuhtipt AC = CA’:

AA = 9AB = AC U AC = CA’,

npptinhg wputnud top, np AA'C' A hwjuwuwpuynnu t: AK Ghunpn £ hwjuuwpuljnnd
towiljub by, wyjuhtiph A’K = KC W /BAD = Z/DAC = ZDCA = 30° : dtpohlihg
htupumd £, npn ZBDM = 60° = ZM BD, nmptinhg by BD = DM :

A'K = KC,AB = BK = BK||AC = BK | BE= MD =MK

Jtpohl puyihlt oqupugnpotighp BD = DM hwujwuwnnipnibp: dhpowybu,

KC AC  AC

MD = DK.MP = PC = DP —
! ¢= 2 1 1




6. Qutp pninp (p, ¢) wwnq pYtiph pYwqnygtipp, npnlip pujwpupnud Go
quJrl = q¥ + 2023

hujuuwpmppyubn:

Ldnud: Lwbh np p??*! W ¢P pybiph puppbpnipniip Yt E, mptdl Gpubghg dkyp
qnug L, hul Ymup Yhlp: Sepbwpwnp juid p = 2, juii ¢ = 2:

Yhyp 1. p = 2: Wu nhiygpmy 2% = ¢2 + 2023: Swdwauyt Sbpdugh thnpp phinptuih
21 = 2(mod g, htplwmpunp
2%t = (29)%. 2 = 8(mod q) :

Miptdb
8 = 2023(mod q) :

Unwugwbip, np ¢-0 2023 — 8 = 2015-h pudwbwpuwn t: Lubth np ¢-0 wupq phy L, mpbda
q = 5,13 juu 31: Upmighyny yppliubmd Gop, np jmomd £ dhuyb ¢ = 5 nhypp:

Yhwyp 2. ¢ = 2: Yu ntiypnd

p° = 2P + 2023 :

Nwdwdw)l dtipduyh thnpp phnptidh

0= p® =2+ 2023 = 2025(mod p) :

Uypwguwibp, np p-0 2025-h pudwbwpuwn E: Lwbh np p-0 wupgq phy L, mptdb p = 3 jud
5: Uypmgabny \pptiuimd GGip, np iputighg ng vtiyp sh pujupwpnd fuiinph wuydwbbtphib:

Nuwypuuhwd (p, q) = (2,5) :



